Hand out for HWK # Il (‘duc Monday | Ocf. 22)

1. a) \/eri@ that j;(f)= et and iz(zf/:e'%

are Soluhons of g"+5;’+ VJ:O

b) Let ¢ and Ci be +wv arb/fmi’dv constants
Veru'fg by plugsing in  that #(f) sCe T et
(s alse a soluhon 01[ j”+§g /+4/J=0,

¢) EXPMM W h -
Y(t = (gg) = ( (-i—f) + “‘( 46"’“)

'%(9)
VVluH' be a solution of the sdw»’rcm

{,ﬁ. vV

dV/pH:" - ‘/g—g\/_

d) F('I’Ic/ ‘HI(’, ‘SO{L(TIWQOV\ O-IF 'ch \WS‘/—CWI n C)
that  safisfies ylo)=3, v0)=-2.

2.0)se +he matrix notafon o
find +he mumbers 4, amd A2 such that
YV = e () wd V@)= e® ()

are solutions of the Sgﬁcm o7

with A - (:Z Z)ﬁ

3



b)  Use the L{ncar({y Pr{mc({o[e fo
find the gemeral  solubon of the 5(75+em (na)

¢) Find the parficular solution of +he system in a)
that  safisfies Y(0)= (;{)

d) Find the /mrh'cu/ar soluion of the jjs%em

in &) that sahsfies Y[o)z(Z) (}Iour answer

wll deperd on constants a and b!

3. \/cm'fy lineari o{ matrix muli’w[thﬁon

Let A?( ) X ( ) gz>

a) Veri that

- v mpu oth
X+Y) = AX + AY (Cgf eskﬂmgwmlmmf
Verlfy that
ﬁX) AX  where L is an
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